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Part A

1. Write the power set of X ={1,2}

Watch Video Solution

2. If `( x+ 1,y -2) =(3,1) Find the values of x and y .

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7TZ1mxQ0EnfX
https://dl.doubtnut.com/l/_aRzJej3qKe5h


3. Convert  into degrees.

Watch Video Solution

( )
e

7x

6

4. Express the complex number  in a + ib form

Watch Video Solution

(1 − i) − ( − 1 + 6i)

5. Solve , x is an integer

Watch Video Solution

5x − 3 < 7  when 

6. Write the first five terms of the sequence defined by 

where n  N

Watch Video Solution

an =
n

n + 1

∈

https://dl.doubtnut.com/l/_aRzJej3qKe5h
https://dl.doubtnut.com/l/_iacq6PFqneOw
https://dl.doubtnut.com/l/_s2FkRacRgvCI
https://dl.doubtnut.com/l/_Y5uhJlc1tb3n
https://dl.doubtnut.com/l/_8haIfvyKjwGp
https://dl.doubtnut.com/l/_aDg23V2z3lI0


7. Reduce  into slope- intercept form

Watch Video Solution

6x + 3y − 5 = 0

8. Find the eqaution of the circle with centre (1,1) and radius 

Watch Video Solution

√2

9. Name of the plane is which the point  lies

Watch Video Solution

( − 3, 0, 4)

10. Find the derivative of w.r.t.x.

Watch Video Solution

2x −
3

4

11. Find the mean of 6, 8, 10, 12, 14, 16, 18, 20, 22

https://dl.doubtnut.com/l/_aDg23V2z3lI0
https://dl.doubtnut.com/l/_4GwuOllLQlts
https://dl.doubtnut.com/l/_Fk9UNpI0zpN1
https://dl.doubtnut.com/l/_IatoUp7nT1eL
https://dl.doubtnut.com/l/_HgnKj2CPsBe6


Part B

Watch Video Solution

12. Write the negation of the statement.

''intersection of two disjoint sets is not an empty set "

Watch Video Solution

1. If  and 

Find A -B and 

Watch Video Solution

A = {x /x = 2n, n ≤ 5, n ∈ N} B = (x /x = 4n ≤ 3, n ∈ N}

A ∩ B

2. If  find the sets A and B

and hence find 

Watch Video Solution

A × B = {(a, 1)(a, 2)(a, 3)(b, 1)(b, 2)(b, 3)}

B × A.

https://dl.doubtnut.com/l/_HgnKj2CPsBe6
https://dl.doubtnut.com/l/_EDZGYB8ZXvxw
https://dl.doubtnut.com/l/_8yWVpHLrbSD5
https://dl.doubtnut.com/l/_fQduLARHU4KQ


3. In a circle of diameter 40 cm, the length of a chord is 20 cm. Find the

length of minor arc of the chord.

Watch Video Solution

4. Find the value of 

Watch Video Solution

sin( )
−11π

3

5. Prove thet 

Watch Video Solution

sin2(π /6) + cos2(π /3) − tan2(π /4) =
−1

2

6. Find the multiplication inverse of  


or 

convert  into polar form

Watch Video Solution

4 − 3i

√3 + i

https://dl.doubtnut.com/l/_0o5RzbshprJd
https://dl.doubtnut.com/l/_J5CPh5z5M6i0
https://dl.doubtnut.com/l/_obVKJPfCSFKb
https://dl.doubtnut.com/l/_UMyywtpnnbPL


7. Find the roots of the equation 

Watch Video Solution

2x2 + 10x + 20 = 0

8. Find all pairs of consecutive odd positive integers both of which are

smaller than 10 such that their sum is more than 11.

Watch Video Solution

9. How many 5 digit telephone numbers can be constructed using the

digits 0 to 9.If each number starts with 67 and no digit appears more

than once.

Watch Video Solution

https://dl.doubtnut.com/l/_UMyywtpnnbPL
https://dl.doubtnut.com/l/_bRezLMSiqZdd
https://dl.doubtnut.com/l/_GTRUpaW8b1ed
https://dl.doubtnut.com/l/_yip2lOFOKdr1


10. The sum of some terms of a G.P. is 315.The first term and the common

ratio are 5 and 2 respectively,find the number of terms.

Watch Video Solution

11. Find the middle term in the expansion of 

Watch Video Solution

(x2 + )
20

3

x

12. Find the distance of the point (3,-5) from the line 

Watch Video Solution

3x − 4y − 26 = 0

13. Find the equation of a line perpendicular to the line 

and passing through the point (1,-2)

Watch Video Solution

x − 2y + 3 = 0

https://dl.doubtnut.com/l/_pF3GXivZJUcT
https://dl.doubtnut.com/l/_HvIygEbU8Z8W
https://dl.doubtnut.com/l/_G0pD6KxpQurk
https://dl.doubtnut.com/l/_kLD72PRkEkih


Part C

14. Show that  are collinear

Watch Video Solution

( − 2, 3, 5)(1, 2, 3)(7, 0, − 1)

15. Write the converse and contrapositive of the statement " If x is a prime

number then x is odd "

Watch Video Solution

1. In a class of 40 students 30 play cricket and 18 play hockey. If the

students plays either circket or hockey find the number of students who

paly Hockey only.

Watch Video Solution

https://dl.doubtnut.com/l/_NDPUdJ57yheo
https://dl.doubtnut.com/l/_ucKrqHGaR5Vx
https://dl.doubtnut.com/l/_HCaYT3bZfurw


2. Find the domain and range of the function defined by 

Watch Video Solution

f(x) =
x − 1

x + 1

3. If f (x) = 

View Text Solution

⎧⎪
⎨
⎪⎩

3x + 1 0 ≤ x ≤ 2

1 + 9x 2 < x < 3   then 

30 + 2x x ≥ 3

4. Prove that : 

Watch Video Solution

sin 3x = 3 sin x − 4 sin3
x

5. If  find the values of 

Watch Video Solution

tan x = and π < x <
3

4

3π

2
sin 2x and cos 2x

https://dl.doubtnut.com/l/_N9zbMeMXSb8e
https://dl.doubtnut.com/l/_2YCzgmyNzLNJ
https://dl.doubtnut.com/l/_dSiYUqk9pazJ
https://dl.doubtnut.com/l/_ENt0lFmlALeo


6. Find the conjuate of .

Watch Video Solution

(3 − 2i)(2 + 3i)

(1 + 2i)(2 − i)

7. Solve the system of inequalities 

 


Watch Video Solution

3x − 7 < x + 5

11 − 5x ≤ 1

8. How many words, with or without meaning can be made from the

letters of the word MONDAY, assuming that no letter is repeated, if. 

(i) 4 leters are used at a time, 

(ii) all letters are used at a time 

(iii) all letters are used but first letter is a vowel ?

Watch Video Solution

https://dl.doubtnut.com/l/_2kIG75jDyhDi
https://dl.doubtnut.com/l/_oXUnyfibfwK1
https://dl.doubtnut.com/l/_YAAGU2uH01Zd
https://dl.doubtnut.com/l/_T7TcrvKx5JSX


9. If A.M.and G.M. of roots of a quadratic equation are 8 and 5 respectively

then abtain the quadratic equation.

Watch Video Solution

10. Find the equatin of the straight line with slope m and passing

through the point (x1,y1)

Watch Video Solution

11. Find the equation of a line that cuts of equal intercepts from the co-

ordinate axis

Watch Video Solution

12. Find the equation of the hyperbola whose foci are  and the

length of the lectus rectum is 36 units.

Watch Video Solution

(0, ± 12)

https://dl.doubtnut.com/l/_T7TcrvKx5JSX
https://dl.doubtnut.com/l/_WiNp9WXgqmwC
https://dl.doubtnut.com/l/_P0SrquDSMfLF
https://dl.doubtnut.com/l/_RcalanLoNvqY


Watch Video Solution

13. Evaluate 

Watch Video Solution

Lim
x → 3

x4 − 81

2x2 − 5x − 3

14. Find the coefficient of  in the expansion of 

Watch Video Solution

x6y3 (x + 2y)9

15. Differentiate of  w.r.t. x from first principles

Watch Video Solution

sin x

16. Show that the statement 

" If x is a real number such that then  true by 


( 1) Direct method 

x2 + 4x = 0 xis0

https://dl.doubtnut.com/l/_RcalanLoNvqY
https://dl.doubtnut.com/l/_hH95AwsYn714
https://dl.doubtnut.com/l/_wbZTOBesmVkj
https://dl.doubtnut.com/l/_UaamWfJgfpfc
https://dl.doubtnut.com/l/_LLUJ3vhbssAl


Part D

(2) method of contradiction 

(3) Method of contrapositive

View Text Solution

17. A coin is tossed twice.What is the probability that atleast one tail

occurs?

Watch Video Solution

1. 

Watch Video Solution

13 + 23 + 33 + …………. + n3 = ∀n ∈ N.
n2(n + 1)

2

4

2. In how many ways can one select a cricket team of eleven from 17

players in which only 5 players can bowl.If each cricket team of 11 players

https://dl.doubtnut.com/l/_LLUJ3vhbssAl
https://dl.doubtnut.com/l/_nWNqyNbVlXVD
https://dl.doubtnut.com/l/_Ne9BC3aGnA5W
https://dl.doubtnut.com/l/_OAepGIrxn2xf


must include exactly 4 bowlers

Watch Video Solution

3. Prove binomial theorem for positive integers

Watch Video Solution

4. Derive the expression for the co-ordinates of a point that divides the

line joining the points  and B  internally in the

ratio m : n and hence find the co-ordinates of A (1,2,3) and B ( 5,6,7,)

View Text Solution

A(x1, y1, z1) (x2, y2, z2)

5. Derive the equation of the ellipse in the form .

Watch Video Solution

+ = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_OAepGIrxn2xf
https://dl.doubtnut.com/l/_rkFWOJitIvDu
https://dl.doubtnut.com/l/_F0n1mDnW7218
https://dl.doubtnut.com/l/_auAdzKc1IZp5


Part E

6. Prove that .

Watch Video Solution

lim
θ → 0

= 1
sin θ

θ

1. Prove that .

Watch Video Solution

= tan 6x
sin 9x + sin 7 + sin 3x + sin 5x

cos 9x + cos 7x + cos 3x + cos 5x

2. Prove that f(x) =

Watch Video Solution

=

ax2 − 3x + 4  when x < 1

3   when x = 1

bx + 5  when x > 1

and if Lim
x → 1

f(x) = f(1)then find the val

https://dl.doubtnut.com/l/_ZdSnC59Z958D
https://dl.doubtnut.com/l/_xiakonmRFmCi
https://dl.doubtnut.com/l/_LKz3daVny4Uk


3. Derive a formula for the angle between two lines with slopes

. Hence the slopes of the lines which make an angle  with

the line 

Watch Video Solution

m1 and m2
π

4

x − 2y + 5 = 0

4. Find the sum of the sequence 7,77,777,7777,…….n terms

Watch Video Solution

https://dl.doubtnut.com/l/_nwNp5qNrfMLX
https://dl.doubtnut.com/l/_Tp4A2v9Ht3Wg

